EAGRAROBREERT — 2 N— ABISH —F

2020510848 () 12m£E2H

KW (32 F12—BRIEL—XE204 ¥5R3KL ‘[351!9‘;} B ‘[?éiﬂ%lﬂéll — | # @ 1100 2
[AE£] 1% :270,000"  23%&:81,000”  33%&:43,000 M  43&:22,000MH . 573&:16,000
& % B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
1171 10| 7R H 2 Y # o3 gJSE(I)E?l 1:31.8 33-3-2 385 — | 2 | 49 iig% (12D)
QAL HLYY B UFLIANL ) €9 | Tamass
S N 3 | AT 1:32.3 1-1-1-1 | 39.4| — 12 | 482 |EBXTE (£H)
25| na mamay o L SR ™
. SRS BRSNS
Sy . it 3 | EXTHA 1:32.8 4-5-5-4 | 39.1| — 3 414 | ABRE (EH)
: oy B:EY /7 ax— gilll BE
5 SN 4 4 | BHREA 1:32.9 12-12-11-9 | 38.0 | — 4 450 | FHHEBAIE (1£%9)
4/5]6 ;.I L X /I/\’f.f‘\ . \ 56.0 (1/2) -17) /NE%K
D=0 T74—X BHIyAr HET7—L
S i 3 | TEH 1:33.2 6-7-7-7 |39.2| — 6 473 | REAE (EH)
5179 :’-7 B . o 54.0 (1172 Ly |ZEAEE
R:T7z/—*x/ B:H7z¥335 Vakse]
YT —FK 2 0| e 1:33.4 7888 (89.1| — | 8 | 484 %i:‘c@a (1£28)
. 1 REK
RU—FHFI5HL B wrafvaY w 0 1%
(e # 5 | HAKE 1:33.4 10-9-9-6 [39.1| — 7 436 | FEBH (58
oA A 5.0 (76) Lo | #TIVEE ()
.-~ B:I79 71 F— 777 Batis
. = o4 | AllER :33.5 1-10-4-5 | 39.7 | — 1 509 | ALASRRE (1£%)
§-§Z7ZD;TM —F 1= %0 e 3 :(H) fiﬁt
: 3 : 1—=T41 pailzcbae]
Ny 32757 — 4 EZME‘)?JJ* (11:313/.47) 2-2-2-3 |40.7| — | 9 | 391 %ﬂgzg (£%)
R:A—KAHF+A7 B:74—>X kLA (-3) gl BsE
SRR TITIN EAIESS 1:34.1 9-11-12-12 [ 38.9 | — 5 428 | BIEX (&)
I(>ZEUCX 5 € 2520 “7
. 2 %) 77T 7
R:I—-v>y—54> B:I—Y %9rT7> @ (#8) KA
TSy 2T — L # o6 | LB 1:(314>.3 8-6-10-10 [40.0| — | 9 | 481 %iﬁg (EH)
LvI Ny s HTT B kT — ) | gfatt 1270774
S . — N . —4-6- - IIEE (8
IR EEE N e # 5 sﬂé?lé#ﬁ 1.&5).1 5-4-6-11 | 41.2 1 <5+o13) ?%Mlgﬁ (%)
Ry —3IUTL BiA—bFafP-X 27 24
@ 1—F—@&BIEf
13=zr= 5,8,10,12,1,9,4,2,7,3,11,6
23—+ — 5,8,10,1,12,2,9,4,3,11,7,6
30—7+— 5,8,10,11,12,1,9,4,3,2,6,7
43—F— 5,10,8,12,11,3,9,4,6,2,1,7
[ RN
B OB 10 360M 714K 5-10 2,520 e & 5-7 3,330 3ER 5-10-12 11,060M
1 B 10 190M 10-12 290M B E 5-10 13,360 JEH 10-5-12 129,460M
5 4,330 5-12 4,460 B H 10-5 67,180M
12 260M

ARICOVWTRDTEEERROODE. TR LI,




